A

by condition was analyszed using the Student’s -test. Data are presented as mean + standard

Table 1:-. Impedance parameters for acriflavine sStaining. Difference in the mean parameters
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deviation (SD).

Impedance parameter ~~~~~ Basal =~ Ischemia P .-~ | Formatted: Font: Bold, English
o lws)

R;[Ohms] 754+ 1.7 919+ 1.4 <0.01 \T Formatted Table

Ry[Ohms] 343+0.7 359405 0.053

X;[-jOhms] 7.4+0.5 11504 <0.01

Xpy[-jOhms] 8.9+0.2 18.5+0.1 0.037

_ -~ | Comment [A1]: The corresponding
symbol seems to be missing in the
table. Please clarify what this refers to.




